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Να συμπληρώσετε τις παρακάτω αντιδράσεις οξείδωσης αλκοολών: 

 

 

           -H2O       +[O] 

α. CH3CH2CH2CΗ2ΟΗ  +  |Ο|  →  CH3CH2CH2CH=O  →  CH3CH2CH2COOH 

         (πρωτοταγής) 

 

  

       -H2O 

β. CH3CH2CHCH3  +  |Ο|  →  CH3CH2CCH3 
             |                     ║ 

       ΟΗ              O 

         (δευτεροταγής) 

 

 

  CH3 

            | 

γ. CH3CCH2CH3  +  |O|    ΔΕ ΓΙΝΕΤΑΙ ΟΞΕΙΔΩΣΗ 

  | 

          OH 

    (τριτοταγής) 

 

   

  CH3             CH3       CH3 

            |     -H2O          |        +[O]          |  

δ. CH3CCH2CH2OH  +  |O|  →   CH3CCH2CH=O  →   CH3CCH2COOH 

  |              |        |   

          CH3            CH3       CH3 

    (πρωτοταγής) 

 

 

 

  CH3       CH3      CH3 

            |        -H2O          |        +[O]          |  

ε. CH3CCH2CH3  +  |O|  →   CH3CCH2CH3  →   CH3CCH2CH3 

  |       |        |   

          CH2OH     CH=O      COOH  

    (πρωτοταγής) 

 

 



ΚΩΝΣΤΑΝΤΙΝΟΣ ΧΑΡΙΖΑΝΗΣ  ΧΗΜΕΙΑ Β´ 

2 

 

ζ. CH3CH2                CH3CH2 

   \ 

    CHOH  +  |O|  →           C=O   +   H2O 

   ∕ 

    CH3CH2      CH3CH2 

(δευτεροταγής) 
 


